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Algebra

Definition (Operation)

An operation on a set A is a function whose domain contains A x A.

o Since A x A is the set of all ordered pairs whose entries are in A, an
operation is a function whose input is a pair of elements from A.

o Example: Consider f : Z x Z — Z defined by f(a, b) = |a — b|. In
words, f(a, b) gives the distance between a and b on a number line.

o We rarely write the operation symbol in front of the two elements on
which we are operating. Rather, we write the operation symbol
between the two elements, i.e., instead of f(a, b), we write a f b.

o Furthermore, we usually do not use a letter to denote an operation.
Instead, we use a special symbol such as + or ® or o.

o The symbols 4+ and x have preset meanings.

o A common symbol for a generic operation is *. Thus, instead of
writing f(a, b) = |a — b|, we could write a* b =|a — b|.
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o Which of the following are operations on IN : 4+, —, x and =7

o Certainly addition + is an operation defined on IN. Although it is more
broadly defined on any two rational (or even real or complex numbers),
it is a function whose domain includes any pair of natural numbers.

o Likewise multiplication x is an operation on IN.

o Furthermore, — is an operation defined on IN. Note, however, that the
result of — might not be an element of IN. For example, 3,7 € IN, but

3—7¢&N.
o Finally, division + does not define an operation on IN because division
by zero is undefined. However, = is an operation defined on the

positive integers.
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Definition (Commutative Property)

Let * be an operation on a set A. We say that * is commutative on A
provided Va,b € A,a* b = b a.

Definition (Closure Property)

Let * be an operation on a set A. We say that % is closed on A provided
Va,be Ajax b e A.

o Note that the definition of an operation does not require that the
result of x be an element of the set A. So, for example, — is an
operation defined on IN, but it is not closed on IN.

Definition (Associative property)

Let * be an operation on a set A. We say that * is associative on A
provided Va, b,c € A,(a* b)x c = ax (bx*c).

George Voutsadakis (LSSU) Discrete Mathematics
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o For example, the operations + and X on Z are associative, but — is
not: (3—4)—7= —8, but3—(4—7)=6.

Definition (Identity Element)

Let x be an operation on a set A. An element e € A is called an identity
element (or identity for short) for x provided Va€ A,axe=exa= a.

o For example, 0 is an identity element for +, and 1 is an identity
element for x. An identity element for o on S, is the identity
permutation ¢.

o Not all operations have identity elements, e.g., subtraction of integers
does not have an identity element.
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Proposition (Uniqueness of Identities)

Let x be an operation defined on a set A. Then * can have at most one
identity element.

o Suppose there are two identity elements, e and €, in A with e # €'
Consider e * €’.

o On the one hand, since e is an identity element, e x &/ = €'.
o On the other hand, since €’ is an identity element, e x ¢/ = e.

Thus we have shown ¢’ = e x & = e, a contradiction to e # €.
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Definition (Inverses)

Let * be an operation on a set A and suppose that A has an identity
element e. Let a € A. We call element b an inverse of a provided
axb=bxa=e.

o Example: Consider the operation + on the integers. The identity
element for + is 0. Every integer a has an inverse: The inverse of a is
simply —a because a+ (—a) =(—a) +a=0.

o Example: Now consider the operation x on the rational numbers.
The identity element for multiplication is 1. Most, but not all,
rational numbers have inverses. If x € Q, then % is x's inverse,
unless, of course, x = 0.
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o Consider the operation * defined on the set {e, a, b, c} given in the
following table:

0O T v | *
0O T v O
® ®© L L |L
® T ®© OT|CT
O ® ® 0|0

o Element e is an identity element.

o Elements b and c are inverses of a because

a*b=bxa—e and axc=cx*xa=—e.
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o If an operation has an identity element, it must be unique.

o But we saw that an element might have more than one inverse.

o For most “common” operations elements have at most one inverse:
o If a € Z, there is exactly one integer b such that a+ b = 0.
o If a € Q, there is at most one rational number b such that ab = 1.
o If mreS,, thereisone o € S, such that Tooc =com = .

o The reason is that associativity implies uniqueness of inverses.
Definition (Group)

Let % be an operation defined on a set G. The pair (G, *) is a group if:

Q The set G is closed under %, i.e., Vg,he€ G,gxh € G.
Q The operation * is associative, i.e., Vg, h, k € G, (g * h) x k = g * (h * k).
Q There is an identity e € G for *, i.e., Je € G,Vg € G,gxe=e*xg=g.

Q For every g € G, there is an inverse h € G, i.e.,
Vge G,dhe G,gxh=hxg=ce.

o The following are groups: (Z,+), (Q*, x), (Zn,®), (Sn,0).
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o The group operation * need not be commutative. E.g., o is not a
commutative operation on S,
Let (G, *) be a group. We call this group Abelian provided * is a
commutative operation on G, i.e.,, Vg,he G,gxh=hxg.
o Example: (Z,+) and (Z19,®) are Abelian, but (S, 0) is not.

Proposition (Uniqueness of Inverses)

Let (G, *) be a group. Every element of G has a unique inverse in G.

o By definition, every element in G has an inverse. Suppose that g € G
has two distinct inverses, say h, k € G, with h # k. This means
gxh=hxg=gxk=kx*xg=e, where e € G is the identity for
By the associative property, h* (g * k) = (h* g) * k. Furthermore,
hx(g+xk)=hxe=hand (hxg)*k =exk=k. Hence h=k,
contradicting the fact that h = k.

o We speak of the inverse of g and write g1
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(%]
Qo
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(Z,+): Integers with addition is a group.
(Q,+): Rational numbers with addition is a group.
(Q, x): Rational numbers with multiplication is not a group. The
problem is that 0 € @ does not have an inverse. We can “repair” this
example in two ways:

s We can consider only the positive rational numbers: (Q*, x) is a

group.
o Another way to repair this example is simply to eliminate the number

0. (Q — {0}, x) is a group.
(Sp,0) is a group called the symmetric group.
If A, be the set of all even permutations in S,,, then (Ap, o) is a group
called the alternating group.
The set of symmetries of a square with o is a group. This group is
called a dihedral group.
In general, if nis an integer with n > 3, the dihedral group D>, is
the set of symmetries of a regular n-gon with the operation o.
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o (Z,,®) is a group for all positive integers n.
o Let G ={(0,0),(0,1),(1,0),(1,1)}. Define an operation * on G by

(a,b) x(c,d)=(a®c,bDd),

where @ is addition mod 2. The * table for this group is

« (0,00 (0,1) (1,0) (1,1)
(0,0) | (0,0) (0,1) (1,0) (1,1)
(0,1) | (0,1) (0,0) (1,1) (1,0)
(1,0) | (1,0) (1,1) (0,0) (0,1)
(1,1) | (1,1) (1,0) (0,1) (0,0)

This group is known as the Klein 4-group. Notice that (0,0) is the
identity element and every element is its own inverse.

o If Ais a set, then (24, A) is a group.

George Voutsadakis (LSSU) Discrete Mathematics
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9 (Z10,®) is not a group.

The problem is similar to (Q, x), i.e., zero does not have an inverse.
The remedy in this case is a bit more complicated, because we cannot
just throw away the element 0. Notice that in (Z1p — {0}, ®) the
operation ® is no longer closed. For example, 2,5 € Zjo — {0}, but

2®5=0¢ Z1o — {0}.

In addition to eliminating the element 0, we can discard those
elements that do not have inverses. Then, we are left with the
elements in Zo that are relatively prime to 10, i.e., with {1,3,7,9}.

The ® table for them is

This group is denoted (Z3,, ®).
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Algebra

Definition (Z})

Let n be a positive integer. We define Z}, = {a € Z, : gcd(a, n) = 1}.

o Example: Consider Z7,. The invertible elements in Zj, (i.e., the
elements relatively prime to 14) are 1,3,5,9,11 and 13. Thus,
12 =1{1,3,5,9,11,13}. The ® table for Zj, is

®( 1 3 5 9 11 13
111 3 5 9 11 13
3/ 3 9 1 13 5 11
5/ 5 1 11 3 13 9
9/ 9 13 3 11 1 5
11411 5 13 1 9 3
13113 11 9 5 3 1

The inverses of the elements in Zj, are
17'=1,3t=551=3 91=11 11"t =9, 1371 =13.
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Let n be a positive integer. Then (Z%,®) is a group.

o To prove that (G, ) is a group, we need to prove that

o G is closed under x;

o * is associative;

o G contains an identity element for x;

o every element of G has a *-inverse in G.

o We apply these to (Z}, ®):

o Let a,b € Z}. Thus, a and b are relatively prime to n. So, we can find
integers x, y, z, w such that ax + ny =1 and bw + nz = 1.
Multiplying, we get 1 = (ax + ny)(bw + nz) =
(ax)(bw) + (ax)(nz) + (ny)(bw) + (ny)(nz) =
(ab)(wx) + (n)[axz + ybw + ynz] = (ab)(X) + (n)(Y), for some
integers X and Y. Therefore ab is relatively prime to n. Since
increasing or decreasing ab by a multiple of n results in a number still
relatively prime to n, gcd(a ® b,n) =1, and a® b € Z.

George Voutsadakis (LSSU) Discrete Mathematics



Algebra

o We continue with the second point:
o That ® is associative has already been proved.
o Clearly ged(1,n) =1, so 1 € Z. Since, also, for any a € Z7,
a®l=1®a=(a-1)mod n=a, 1is an identity for ®.
o Let a € Z;. We saw that a has an inverse a—! € Z,.
Isa—le 77 Since a1 is itself invertible, a—1
and so a~! € Z7.

Therefore (7, ®) is a group.

is relatively prime to n,

Proposition

Let n be an integer with n > 2. Then

25| = ¢(n),
where o(n) is Euler's totient.

o This holds by the definition of ¢(n) as the number of integers from 1
to n (inclusive) that are relatively prime to n.
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o Two groups may have identical structures.

o Consider the groups: (Za,®), (Zz,

®) and the Klein 4-group:

@0 1 2 3 ®|1 2 3 4 * (0,00 (0,1) (1,00 (1,1)
0jo 1 2 3 11 2 3 4 (0,0 (0,00 (0,1) (1,00 (1,1)
1/1 2 30 2|2 4 1 3 (01)](0,1) (0,00 (1,1) (1,0)
212 3 0 1 3(3 1 4 2 (1,001 (1,0) (1,1) (0,0) (0,1)
313 01 2 4|4 3 2 1 (1,1)](,1) (1,00 (0,1) (0,0)

o In the Klein 4-group every element is its own inverse.

o We can superimpose the operation tables for the two groups (Zas, @)

and (ZZ,®) on top of one another so they look the same.
o We pair:
(Z4,®) (73, ®) ®|01 12 24 33
0 — 1 01|01 12 24 33
1 — 2 12 112 24 33 01
2 — 4 24 |24 33 01 12
3 > 3 33|33 01 12 24
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Algebra

o Let f : Z4s — 75 be defined by
f(0)=1, f(1)=2, f(2)=4, f(3)=3.

f is a bijection and f(x & y) = f(x) ® f(y), where & is mod 4
addition and ® is mod 5 multiplication.

Definition (Isomorphism of Groups)

Let (G,x*) and (H,*) be groups. A function f : G — H is called a
(group) isomorphism provided f is one-to-one and onto and satisfies
Vg, he G,f(gxh)=1f(g)r(h).
When there is an isomorphism from G to H, we say G is isomorphic to
H and we write G = H.
o The "“is-isomorphic-to” relation is an equivalence relation, i.e.,
o for any group G, G = G,

o for any two groups G and H, if G 2 H, then H = G,
o for any three groups G, H, and K, if G 2 H and H 2 K, then G = K.
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o Element 1 of (Z4,®) generates all the elements of the group (Zs4, ®):
1=1,101=2,10101=3, 1010101 =0.

o The element 3 also generates all the elements of (Za, ®):
3=3,3®3=2,30303=1,3030303=0.

o Because (Zg,®) is isomorphic to (Za,®), it, too, must have a
generator: Since 1 € Z4 corresponds to 2 € ZZ, we calculate

2=2202=4,2022=3,22®2®2=1.

Thus element 2 € ZZ generates the group.

o The Klein 4-group does not have an element that generates the entire
group. In this group, every element g has the property that
g*xg =e=1(0,0). So there is no way that g, g* g, g*g*g, ... can
generate all the elements of the group.
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o There is no element of Z that generates (Z,+). The element 1
generates all the positive elements of Z. If we allow 1's inverse, —1,
to participate in the generation process, then we can get 0 (as
1+ (—1)) and all the negative numbers.

Definition (Generator, Cyclic Group)
Let (G, *) be a group. An element g € G is called a generator for G if

every element of G can be expressed just in terms of g and g~ ! using the

operation *. If a group contains a generator, it is called cyclic.

o The special provision for g~1 is necessary only for groups with
infinitely many elements. If (G, ) is a finite group and g € G, then
we can always find a way towrite g7l = gxgs*---xg.

~—_————

n factors, for some n > 0
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Let (G, x) be a finite group and let g € G. Then, for some positive integer
n,wehave g l=gxgx - xg.
~—_——

n times

o Wewrite g"=gxg*---%xg.
n times
o Let (G, ) be a finite group and let g € G. Consider the sequence
gt g%, g3, g%, .... Since the group is finite, this sequence must, at
some point, repeat itself. Suppose the first repeat is at g7 = g?,
where a < b.
o Claim: a=1.
o Suppose a > 1. Then, since g? = g?, by operating on the left by g1,
we get g1 x g2 = g~ x gb, which gives g271 = gP~1. Thus, the first
repeat is before g = gb, a contradiction. Therefore, a = 1.
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o We considered g', g2, g3, ..., which repeats when g2 = g?, for a = 1.
o So, if we stop at the first repeat, the sequence is
gt g%, g3, ...,8° = g. Notice that since g = g, if we operate on
the left by g1, we get e = gb~1.

o If b= 2, we get g2 = g. In this case, g = e and so g' = g1, proving
the result.
o If b> 2, we can write e = g?~1 = gP=2 x g. Therefore, gb2 = g1,

proving again the result.
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Theorem (Finite Cyclic Groups)

Let (G, *) be a finite cyclic group. Then (G, ) is isomorphic to (Z,, ),
where n = |G|.

o Let (G, ) be a finite cyclic group. Suppose |G| = n and let g € G be
a generator. We claim that (G, %) = (Zp,, ®). Define f : Z, — G by
f(k) = g*. To prove that f is an isomorphism, we must show that

o f is one-to-one and onto;

o f(j @ k) = f(j) = f(k).

We undertake one at a time:

o f is one-to-one: Suppose f(j) = f(k). This means that g/ = gk. We
want to prove that j = k. Suppose that j # k. Without loss of
generality, 0 < j < k < n. We can * the equation g/ = g* on the left
by (g7 to get (g Y x g/ = (g ') x g, ie., e= gkJ. Since
k — j < n, this means that the sequence g, g2, g3, ... repeats after
k — j steps, and therefore g does not generate the entire group (but
only k — j of its elements). However, g is a generator, which is a
contradiction. Therefore f is one-to-one.
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o We have shown f(k) = g is one-to-one. We continue with the
remaining two steps.

o fisonto: Let h € G. We must find k € Zj, such that f(k) = h. We
know that the sequence e = g% g = g, g%, g3, ... must contain all
elements of G. Thus, h is somewhere on this list, say, at position k
(i.e., h=gk). Therefore, f(k) = h and f is onto.

o For all j, k € Z,, we have f(j @ k) = f(j) * f(k): Recall that
J@ k= (j+ k) mod n=j+ k + tn, for some integer t. Therefore,

f(jEBk) = gJ:-‘rk—H'n:gj*gk*gtn:gj*gk*(gn)t
= glxghxet =glxgh=f(j)xf(k).

Therefore, f : Z,, — G is an isomorphism, and, hence,
(Zn, ®) = (G, *).
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o Consider the integers as a group: (Z,+). Within the set of integers,
we find the set of even integers, E = {x € Z : 2 | x}. (E,+) is also a
group: it satisfies the four required properties.

o + is closed on E (the sum of two even integers is again even);
o addition is associative;

o E contains the identity element 0;

o if x is an even integer, then —x is also, so inverses are in E.

In this case, we call (E,+) a subgroup of (Z,+).

Definition (Subgroup)

Let (G, x) be a group and let H C G. If (H, %) is also a group, we call it a
subgroup of (G, x).

o The operation for the group and the operation for its subgroup must
be the same: It is incorrect to say that (Zig, ®) is a subgroup of
(Z,+); it is true that Z1o C 7Z, but the operations & and + are
different.
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o The subgroups of (Zig, ®) are

{0}’ {07 1’27 3’ 47 5’ 67 77 87 9}’
{0,5}, {0,2,4,6,8}.
o How can we verify that our answer is correct?
o For each subset H we listed, is (H, ®) a group?
o Are there other subsets H C Z¢ that we missed?
o If (G, ) is a group, to determine whether (H, %) is a subgroup of
(G, %):
o First, we check H C G.
o Second, we show that (H, %) is a group:
@ To check closure, we need to prove that if g, h € H, then g« h € H.
o We do not have to check associativity: (G, *) is a group and therefore
* is associative on G. Since H C G, we must have that * is already
associative on H.
o Next, we check that the identity element is in H.

o Finally, we know that every element of H has an inverse (because every
element of G D H has an inverse). If g € H, we must show g~ € H.
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o Are {0}, {0,1,2,3,4,5,6,7,8,9}, {0,5} and {0,2,4,6,8} truly
subgroups of (Z19, ®)?
o We check these claims:
o H = {0} is a subgroup of (Zo, ®).
o Since 0® 0 = 0, we see that H is closed under @.
o It contains the identity.
o Since Q's inverse is 0, the inverse of every element in H is also in H.
o H="71=1{0,1,2,3,4,5,6,7,8,9} is a subgroup of (Z0,®). Since
(Z10,®) is a group, it is a subgroup of itself.
o H={0,5} is a subgroup of (Zio, ®).
@ His closed under @ since 0 p0=5®5=0and 05 =5d 0 =5.
o Clearly 0 € H.
o 0 and 5 are their own inverses.
o H=1{0,2,4,6,8} is a subgroup of (Z1,®).
o Reduction mod 10 of an even number is even.

o 0€H.
o The inverses of 0, 2, 4, 6, 8 are 0, 8, 6, 4, 2, respectively.
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o Are there other subgroups of (Z1g,®)?

o Suppose H C Zjo and that (H,®) is a subgroup of (Z9,®). Since
(H,®) is a group, we must have 0 € H. If the only element of H is 0,
we have H = {0}. Otherwise the following analysis applies:

o Suppose 1 € H. Then1®1=2¢€ H. Also 1®2 =3 € H. Continuing,
we get H = Zo. Thus, if 1 € H, H = Zo.
o Suppose 3 € H. Then3®3=6€ Hand3®6 =9 € H. Since9 € H,
so is its inverse, 1 € H. But, if 1 € H, then H = Zy.
o If 7€ Horif 9 € H, then we can show that 1 € H, and then H = Zy.
o Suppose 5 € H. We have H D {0,5}. If 2 € H, then2@®5 =7 € H,
whence H = Z1o. Similarly, if any even is in H, then H = Z,. So if
5 € H, then either H = {0,5} or H = Zqo.
o If all elements in H are even:
o If2 € H, then 4,6,8 € H, so H = {0,2,4,6,8}.
o If4eH, thendd4@4=2¢cH, and H=10,2,4,6,8}.
o Similarly, if 6 or 8 is in H, again H = {0, 2, 4,6, 8}.
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o The four subgroups of (Zio,®) have cardinalities 1, 2, 5, and 10.
These four numbers are divisors of 10.

o We list all the subgroups of (Ss3,0), i.e., of the set of all permutations
of {1,2,3} with the composition operation. Recall

53 = {(1)(2)(3), (12)(3), (13)(2), (1)(23), (123), (132)}. Its

subgroups are

{(1)(2)(3)}
{(1)(2)(3),(12)(3)} {(1)(2)(3),(13)(2)} {(D()(3), (1)(23)}
{(1)(2)(3), (123), (132)}
{(1)(2)(3): (12)(3), (13)(2), (1)(23), (123), (132)}.

The cardinalities of these subgroups are 1, 2, 3 and 6. Note, again,
that they are all divisors of 6.
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Definition (Congruence Modulo a Subgroup)

Let (G, *) be a group and let (H, %) be a subgroup. Let a,b € G. We say
that a is congruent to b modulo H if ax b~! € H. We write this as

a=b (mod H).
o Example: Consider the group (Z35,®). We have
Zis = {1,2,3,4,6,7,8,9,11,12,13, 14,16, 17, 18, 19, 21, 22, 23, 24}.
Let H ={1,7,18,24}. The operation table for ® restricted to H is

|1 7 18 24 H is a subgroup of Zys:

1|11 7 18 24 o H is closed under ®.
7|7 24 1 18
18|18 1 24 7
24 |24 18 7 1 o The inverse of every element of H is in H.

Do we have 2 =3 (mod H)? Calculate2®3 1 =2® 17 =9 & H.

Therefore 2 # 3 (mod H).
Since2® 1171 =2® 16 =7 € H, we have 2 =11 (mod H).

o The identity element 1 € H.
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Lemma

Let (G, x) be a group and let (H, x) be a subgroup. Then congruence
modulo H is an equivalence relation on G.

o Congruence modulo H is reflexive, symmetric, and transitive:

o Congruence modulo H is reflexive: Let g € G. We need to show that
g = g (mod H). To do that, we need to show g * g~! € H. Since
g*g 1 =eand, since e € H, we have g = g (mod H).

o Congruence modulo H is symmetric: Suppose a = b (mod H). Then
a*xb~l € H. Therefore, (a* b™1)"1 € H. But (ax b™1)"! =
(b)) txal=bxaleH. Thus, we have b=a (mod H).

o Congruence modulo H is transitive: Suppose a = b (mod H) and
b=c (mod H). Thus, ax b=, bxc~! € H. Since H is a subgroup
and, therefore, closed under , (a* b™1) % (b c™1) =
ax(b7lxb)xc ' =axc! € H. Therefore a=c (mod H).

Therefore congruence modulo H is an equivalence relation on G.
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o Since congruence mod H is an equivalence relation, we may consider
the equivalence classes of this relation.

o Recall the group (Zss, ®) and its subgroup H = {1,7,18,24} we
considered in the previous slide. For the congruence mod H relation,
what is the equivalence class [2]?

This is the set of all elements of Zys that are related to 2, i.e.,
[2] ={a € Z3s : a=2 (mod H)}. By testing all 20 elements of Zys,
we find that [2] = {2,11,14,23}. The other equivalence classes are
[1] ={1,7,18,24} [2] ={2,11,14,23} [3] ={3,4,21,22}
[6] = {6,8,17,19} [9] = {9,12,13,16}

o These are all the equivalence classes of congruence mod H, since
every element of Zos is in exactly one of these classes.

o We know the equivalence classes form a partition of the group.

o The class [1] equals the subgroup H = {1,7,18,24}.

o The equivalence classes all have the same size.
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Lemma

Let (G, *) be a group and let (H, ) be a finite subgroup. Then any two
equivalence classes of the congruence mod H relation have the same size.

o Let g € G be arbitrary. It is enough to show that [lg] = [e]. Note

[e]={ac G:a=e (mod H)} ={ac G:axe™

€ H} =

{a€ G:aec H} = H. To show that [g] = H, we define a function
f : H— [g] and we prove that f is one-to-one and onto. For h € H,
define f(h) = hx g.

9
9

Clearly f is a function defined on H.

Is f:H—[g]? Since f(h)xg = (hxg)xg '=hx(gxg1)=
he H, f(h) =g (mod H), whence f(h) € [g].

Now, we show that f is one-to-one. Suppose f(h) = f(h’). Then,
hxg=Hh=xg. So(hxg)xg 1= (hxg)+g~ ! whence h=H.
Finally, we show that f is onto. Let b € [g]. This means that b= g
(mod H), whence b+ g=1 € H. Let h=bxg~1. Then f(h) =
f(bxg )= (bxg')xg=bx(gxg')= b. So f is onto [g].

George Voutsadakis (LSSU) Discrete Mathematics



Algebra

Theorem (Lagrange)

Let (H, ) be a subgroup of a finite group (G, *) and let a = |H| and
b=|G|. Then a| b.

o Let (G, ) be a finite group and let (H, %) be a subgroup.

o By the preceding lemma, the equivalence classes of the
“is-congruent-to-mod-H" relation all have the same cardinality as H.

o Since the equivalence classes form a partition of G, |H| must be a
divisor of |G|.
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Subsection 4
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Theorem (Fermat's Little Theorem)

Let p be a prime and let a be an integer. Then aP = a (mod p).

o Example: If p = 23, then the powers of 5 taken modulo 23 are

5l=5 52=2 53=10 5*=4 5°=20
56=8 57=17 58=16 5°=11 50=9
511 =22 512=18 513=21 5% =13 55 =19
5166 =3 517=15 518=6 519=7 520=12
521=14 52=1 58=5 54=2 55=70

where all congruences are mod 23.
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o We first prove by induction the result for a > 0, i.e., that if p is prime
and a € IN, then a? = a (mod p).

9
9
9

9

Basis case: If a=0, a» =0°P =0 = a, so a? = a (mod p).

Induction Hypothesis: Suppose kP = k (mod p).

Induction Step: We show (k +1)? = k +1 (mod p). By the Binomial

Theorem, (k +1)P = kP + (O)kP~1 + (B)kP~2 + -+ () k + 1. Al

but the first and last terms on the right are of the form (7) kP—J, where
1

0 <j < p. The binomial coefficient (£) is an integer: (?) = 72y =

J'(p—J)!
ﬁ((’;:};:. Factor the numerator and the denominator into primes and

cancel matching primes. Since p is a prime factor of the numerator but
not of the denominator, this integer must be a multiple of p. So

kP (D)kP~E+ (5)kP~2 + - +(,P1)k +1=KkP +1 (mod p). Since,
kP = k (mod p), (k+1)p:kp+15k—|—1 (mod p).

o We finally show that (—a)P? = (—a) (mod p) where a > 0.
lfp=2 (-a)?=a>=a= —a (mod 2).
If p> 2, we have (—a)P = (— )Pap = —(aP) = — a (mod p).

]
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o We again assume a is a positive integer. The case a = 0 is trivial, and
the case a < 0 is handled as in the previous proof.

o With p a prime and a a positive integer, we ask: How many length p
lists can be formed in which the elements of the list are chosen from
{1,2,...,a}? The answer to this question is aP.

o We define an equivalence relation R on these lists: Two lists are
equivalent if we can get one from the other by cyclically shifting its
entries. For example 12334 R 41233 R 34123 R 33412 R 23341.

o How many nonequivalent length p lists can be formed in which the
elements of the list are chosen from {1,2,...,a}? l.e., can we count
the number of R-equivalence classes?

o Example: Consider the case a =2 and p = 3. There are eight lists we

can form: 419 112 121, 122, 211, 212, 221, 222.
These fall into four equivalence classes: {111}, {222}, {112,121,
211} and {122,212, 221}.
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o Example: Consider the case a =3 and p = 5. There are 3° = 243
possible lists (from 11111 to 33333). There are three equivalence
classes that contain just one list, namely {11111}, {22222} and
{33333}. The remaining lists fall into equivalence classes containing
more than one element. For example, the list 12113 is in the following
equivalence class: [12113] = {12113,31211,13121,11312,21131}. By
experimenting, notice that all the equivalence classes with more than
one list contain exactly five lists. Thus there are three equivalence
classes that contain only one list and the remaining 3% — 3 I|sts fall

into classes containing exactly five I|sts each There are 323 === 3 such

classes. Thus, all told, there are 3 + £=3 = 51 different equivalence
classes. The number % is an mteger. Therefore 3° — 3 is divisible

by 5, i.e., 3° =3 (mod 5).
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o How many elements does an equivalence class contain?

o For lists all of whose elements are the same, the equivalence classes
contain exactly one list.

o For a list with (at least) two different elements x1x; - - - Xp—1Xp, Where
the elements are drawn from {1,2, ..., a}, the equivalence class of this
list contains x1x0X3 -+ - Xp—1Xp, X2X3 * * + Xp—1XpX1, X3 * * Xp—1XpX1X2, - - -
XpX1X2 - - - Xp—1. Are there p lists in this equivalence class, or is there a
repetition?

o Claim: If the elements of the list x;xox3 - - - X,_1Xp are not all the same,
then the p lists above are all different.

o Thus there are a equivalence classes of size 1 and the remaining a? — a
lists form equivalence classes of size p. All together, there are a + L;""

different equivalence classes. Since this number must be an integer,

aP — a is divisible by p, i.e., a? = a (mod p).
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o Claim: If the elements of the list x;xox3 - - - x,_1x, are not all the
same, then the p lists above are all different.

o Suppose that XiXj41 - Xj—1 = XjXj+1 - Xj—1, with 1 < i < j < p.

Then X; = Xj, Xi+1 = Xj41, - - ., Xi—1 = Xj—1. [herefore, if we cyclically
shift the list x;XxoX3 - - - Xp—1X, by j — i steps, the resulting sequence is
identical to the original. Thus, x; = x;(j—j). If we shift the list

another j — / steps, we again return to the orlglnal X1 = Xi42(3j—i)- We
always add or subtract a multiple of p so that the subscript on x I|es in
the set {1,2,...,p}. So we get

XU = Xg(j—i) = X142(j—i) = X143(—i) = = X1 (p-1)(j—i)-

But this equation says that x; = xo = - - = X, a contradiction!
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Lemma

Let (G, ) be a finite group, with identity e, and let g € G. Then glél =e.

o Consider the sequence g!, g2 g ,.... Since (G, %) is finite, this
sequence must repeat, i.e., g' = g, for some 1 </ <j. % both sides
by (g71)" to get e = g/~'. Thus, there is k > 0, such that gk = e.

o By the Well-Ordering Principle, there is a least positive integer k such
that gk = e. Define the order of the element g, denoted |g|, to be
the smallest such positive integer.

o Claim: (g) = {e,g,g2%,83,...} is a subgroup of G, with |(g)| = |g]|.

o Clearly, it is closed under x;
o It contains e¢;

o Every element g' has an inverse: Let i = kg + r, with 0 < r < k. Then
gl x gk = glkatnt(k=r) — gk(a+1) — o whence (g')~' = gk—".
o By Lagrange's Theorem, |(g)| = |g| divides |G|. Therefore
g|G| — gk|g| — (g|g|)k = ek — e.
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o We work in the group (Zj, ®) and prove the result only for a > 0.

9

9

If ais a multiple of p, then a» = a =0 (mod p).
If we increase (or decrease) a by a multiple of p, there is no change
modulo p in the value of aP: (a+ kp)P =
a?+ (D)@ (kp)t + (5) a2 (kp)* + - - + (5) °(kp)P = &P (mod p).
Therefore we may assume that a is an integer in the set {1,2,...,
p—1} =7Z;.
The equation a? = a (mod p) is equivalent to a® a® --- ® a = a.

——————

p times

This can be rewritten aP? = a. If we ® both sides by a~!, we have
aP~1 = 1. Conversely, if we can prove a?~! =1 in Zy, then our proof
will be complete. This, however, was the content of the preceding
lemmal
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o Fermat’s Little Theorem does not hold for any non-prime moduli, i.e.,

it is not the case that a” = a (mod n) for any positive integer n.
o Example: Consider n = 9. We have

19 = 2°=8#£2 3=0#3
#=1#£4 5°=8#£5 6°=0#£6
7"=1#£7 8°=38 P¥=0=9

where all congruences are modulo 9. So, the formula a? = a
(mod p) does not extend to non prime values of p.
o A clue is gotten by looking more closely to the third proof: The key
was that a1 =1 in Z,. This holds because:
9 g€ Z;;
o the exponent p — 1 is the number of elements in Z7. In general,
however, |Z%| = ¢(n), Euler's totient.

o Example: We replace the exponent 9 with the exponent ¢(9) = 6 in
the previous example. We have Z§ = {1,2,4,5,7,8} and ¢(9) = 6.
Raising the integers 1 through 9 to the power 6 (mod 9) gives

1°=1 26=1 3°=0 4°=1 5°=1
65=0 7°=1 8°=1 9°=0.

George Voutsadakis (LSSU)



Algebra

o We have seen that if a € Z, then al%:l = 1. Since |Z%| = ©(n), this
can be rewritten a#(") = 1, with multiplication in Z?.

Theorem (Euler's Theorem)

Let n be a positive integer and let a be an integer relatively prime to n.

Then a?(W =1 (mod n).

o Let a be relatively prime to n. Dividing a by n, we have a = qgn+r,
where 0 < r < n. Since a is relatively prime to n, so is r. Thus we
may assume that a € Z}. Now, by a preceding lemma, ¢(n) = |Z}|
implies a#(") = 1 in Z*, which is equivalent to a?(") =1 (mod n).
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o Fermat’s Little Theorem states that if p is a prime, then aP = a
(mod p) for any integer a. We can write this symbolically as

pisaprime = Vac€Z,aP =a (mod p).
o The contrapositive of this statement is
—|Va€ Z,a?P =a (mod p)] = pis not a prime,
which can be rewritten
Jda€Z,aP #2a (mod p) = pis not a prime.
o This says that, if there is some integer a such that a? # a (mod p),
then p is not a prime. Therefore, we have shown:

Let a and n be positive integers. If a” # a (mod n), then n is not prime.

o This theorem can be used for showing that an integer is not prime.
o But, if we have positive integers a and n with a” = a (mod n), then
we cannot conclude that n is prime!

George Voutsadakis (LSSU) Discrete Mathematics



	Algebra
	Groups
	Group Isomorphism
	Subgroups
	Fermat's Little Theorem


